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Year 4 Mental Arithmetic Paper 1

Subtract 27 from 2063

How much more are 2 tehs than 4 twos?

How many minutes from 08:45 to 09:10?

8X7=40+

Ix1l=

Write the next two humbers in this seauence:

471 43 31

Sally had 25p. [h a week, her money has trirled. How much
does she have now?

Martin wants to save £50. He already has one £20 note,
two £10 notes and a £1 coin. How much more does he
heed?
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10) Two bags of sweets cost £1.20.
How much does ohe bag of sweets cost?

11) 1 metre of ribbon costs 60p. Y2 of a metre costs P.
12) 8x3-5=
13) 1.275 Litres = millilitres

14) Write in figures:

Twenty thousand, four hundred and thirty-two =

15) 3/40f 1 metre = cm.

16) Add the numbers in the star.

Answer =
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17) Subftract 12 from the sum of 29 and 7

18) Amrita has a pound coih and spends 24p oh sweets.
How much does she have left? P

19) Find the total distance around the square. 6
cm

Answer = cm

20. Arrange the figures 1, 3, 6, 0 to make the largest possible
humber.
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2036
12

25 minutes
16

121

33, 27
5p

£9

138
60p
15p

19
1275ml
20432
75¢cm
93

24

6p
24cm
6310
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